Class 6 - Commutability, Compatibility and the Uncertainty Relation "TRSE"  $If \int d^{3}x \, \tilde{\Psi}^{*}(\vec{x},t) \, \tilde{\Psi}(\vec{x},t) = 1$  $\begin{array}{c} \uparrow \\ H \\ \Psi (\vec{x}, t) = i \\ t \\ \neg \\ \neg \\ \Psi (\vec{x}, t) \end{array}$  $(\overline{\Psi}(\overline{x},t) = \sum_{n} c_n e^{-i/t} \overline{E_n t} \psi_n(x)) \qquad \Longrightarrow \sum_{n} |c_n|^2 = 1$ " Complete ness Relation" only five  $\int_{H}^{n} f_{m}(\vec{x}) = E_{n} f_{m}(\vec{x})$  "TISE"  $\langle \hat{H} \rangle = \int d^3 \vec{x} \, d (\vec{x}, t) + \vec{\Psi} (\vec{x}, t) = \sum_{n} |c_n|^2 E_n \quad Conservation$  Enorgy " $\hat{\mu} \neq \hat{\mu}(t)$ /Cn/2: prob. that if we measure the energy on a system represented by \$1\$, t) we will obtain the value En The possible result of measuring the energy is restricted to the set of values { E1, E2, E3, ..., Enf The set of values Cn is determined by the mitial conditions of the system.  $C_{n} = \int d^{3}\chi' \psi_{n}^{*}(\vec{x}') \tilde{\Psi}(\vec{x}', o)$ In Linear Algebra, in 2 625is El, Cz, Cz  $\vec{V} = V_{1} \vec{e}_{1} + V_{2} \vec{e}_{2} + V_{3} \vec{e}_{3} = V_{1} \vec{e}_{1}$  $V_{\lambda} = \begin{array}{c} A \\ e_{1} \\ e_{1} \end{array} + \begin{array}{c} A \\ e_{1} \\ e_{1} \end{array} + \begin{array}{c} A \\ e_{1} \\ e_{1} \end{array} + \begin{array}{c} A \\ e_{1} \\ e_{2} \end{array} + \begin{array}{c} A \\ e_{2} \\ e_{3} \end{array} + \begin{array}{c} A \\ e_{3} \\ + \begin{array}{c} A \end{array} + \begin{array}{c} A \\ + \begin{array}{c} A \end{array} + \begin{array}{c} A \\ + \end{array} + \begin{array}{c} A \end{array}$  $\vec{V} = \begin{pmatrix} \vec{e} & \vec{e} \\ \vec{e} & \vec{e} \end{pmatrix} \cdot \vec{V}$ outer juct) Product  $\left( \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) \otimes \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \\ \sigma \end{array} \right) = \left( \begin{array}{c} & \sigma \end{array} \right$  $\begin{array}{c} \wedge & \wedge \\ e_1 & e_1 \\ e_1 \\ e_1 \\ e_1 \\ e_2 \\ e_3 \\ e_$  $e_{i}e_{i} = \begin{pmatrix} 0 & 0 \\ 0 & 0 \\ 0 & 0 \end{pmatrix} = 1 \qquad \sum_{i=1}^{n} \begin{pmatrix} 0 & 0 \\ 0 & 0 \\ 0 & 0 \end{pmatrix}$ ¥ in component form:  $\frac{\sum_{i} |V_i|^2}{|V_i|^2} = |\overline{V}|^2 = 1 \qquad \text{if } (\sum_{i} |\hat{e}_i|^2)_{iM} = (\sum_{i} |\hat{e}_i|^2)_{iM} = (\sum_{i} |\hat{e}_i|^2)_{iM} = (\sum_{i} |\hat{e}_i|^2)_{iM}$ Closure Relation " Closure Telatim In Q. M.  $\vec{A} \cdot \vec{B} = A \cdot B \cdot$  $\overline{\Psi}(\overline{x},t) = \sum C_n e^{-i/t_n E_n t} \psi_n(\overline{x}) \Big|_{t=0}$  $\widehat{A} \cdot \widehat{B} \quad \widehat{C} \cdot \widehat{D} = A; \ R; \ G; \ D;$  $\underline{\Psi}(\vec{x}, o) = \sum_{n} \int d^{3} \chi' \psi_{n}^{*}(\vec{x}) \, \overline{\Psi}(\vec{x}) \, \vartheta \, \psi_{n}(\vec{x})$ 

$$\begin{split} \widehat{\Psi}(t), a_{1}^{2} &= \sum_{n} \int d^{2}x^{1} \frac{d^{2}}{dt} \left( \sum_{n} \frac{d^{2}}{dt} \right) \frac{d^{2}}{dt} \right) \frac{d^{2}}{dt} \left( \sum_{n} \frac{d^{2}}{dt} \right) \frac{d^{2}}{dt} \right) \frac{d^{2}}{dt} \left( \sum_{n} \frac{d^{2}}{dt} \right) \frac{d^{2}}{dt} \left( \sum_{n} \frac{d^{2}}{dt} \right) \frac{d^{2}}{dt} \right) \frac{d^{2}}{dt} \left( \sum_{n} \frac{d^{2}}{dt} \right) \frac{d^{2}}{dt} \right) \frac{d^{2}}{dt} \left( \sum_{n} \frac{d^{2}}{dt} \right) \frac{d^{2}}{dt} \left( \sum_{n} \frac{d^{2}}{dt} \right) \frac{d^{2}}{dt} \right) \frac{d^{2}}{dt} \left( \sum_{n} \frac{d^{2}}{dt} \right) \frac{d^{2}}{dt} \left( \sum_{n} \frac{d^{2}}{dt} \right) \frac{d^{2}}{dt} \left( \sum_{n} \frac{d^{2}}{dt} \right) \frac{d^{2}}{dt} \right) \frac{d^{2}}{dt} \left( \sum_{n} \frac{d^{2}}{dt} \right) \frac{d^{2}}{dt} \right) \frac{d^{2}}{dt} \left( \sum_{n} \frac{d^{2}}{dt} \right)$$

$$\begin{array}{c} \left(X_{k},Y_{m}\right) \leq (x_{k},Y_{m}-t_{m},V_{k}) \leq (x_{k}+1) \\ = -it\left(X_{m}^{2}\sum_{k=1}^{m} - \frac{2}{m}\sum_{k}V_{k}\right) \leq (x_{k}+1) \\ = -it\left(X_{m}^{2}\sum_{k=1}^{m} - \frac{2}{m}\sum_{k}V_{k}\right) \leq (x_{k}+1) \\ = -it\left(X_{m}^{2}\sum_{k=1}^{m} + \frac{2}{m}\sum_{k=1}^{m}V_{k}\right) \leq (x_{k}+1) \\ = -it\left(X_{m}^{2}\sum_{k=1}^{m} + \frac{2}{m}\sum_{k=1}^{m}V_{k}\right) \leq (x_{k}+1) \\ = -it\left(X_{m}^{2}\sum_{k=1}^{m}V_{k}\right) \leq (x_{m}^{2}\sum_{k=1}^{m}V_{k}) \leq (x_{m}^{2}\sum_{k=1}^{m}V_{k}) \\ = -it\left(X_{m}^{2}\sum_{k=1}^{m}V_{k}\right) = -it\left(X_{m}^{2}\sum_{k=1}^{m}V_{k}\right) = (x_{m}^{2}\sum_{k=1}^{m}V_{k}) \\ = -it\left(X_{m}^{2}\sum_{k=1}^{m}V_{k}\right) = -it\left(X_{m}^{2}\sum_{k=1}^{m}V_{k}\right) = (x_{m}^{2}\sum_{k=1}^{m}V_{k}) \\ = -it\left(X_{m}^{2}\sum_{k=1}^{m}V_{k}\right) = -it\left(X_{m}^{2}\sum_{k=1}^{m}V_{k}\right) = (x_{m}^{2}\sum_{k=1}^{m}V_{k}) \\ = -it\left(X_{m}^{2}\sum_{k=1}^{m}V_{k}\right) = -it\left(X_{m}^{2}\sum_{k=1}^{m}V_{k}\right) \\ = -it\left(X_{m}^{2}\sum_{k=1}^{m}V_{k}\right) \\$$